[image: image1.png](a) Use the management and financial accounts schedules to complete the to-do list for Friday of week 4.
Drag the tasks into the to-do st below.
Please note that each task box is one hour in duration, therefore if a task takes more than one hour
to complete you will be able to use the task box more than once.
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(b) Use the management and financial accounts schedules to identify on which day in which week you
have the most hours allocated to routine tasks.

Drag the day of the week and the week number into the table below.








Sample assessment model answers

Level 2 synoptic assessment (AQ2016) – selected tasks


Task 1 (15 marks)
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Task 1, continued


[image: image2.png](c) Use the management and financial accounts schedules to identify which two weeks are the busiest
foryou.

[Weeks 3anas

You have been asked to attend a raining session between 09:00 and 13:00 on any day next month. This will
necessitate you being out of the office between these hours.

(@) Use the management and financial accounts schedules to identify on which day in which week
attendance at the training session would have least impact on your workload.

Drag the day of the week and the week number into the table below.

Afier you've confirmed the most appropriate date for your raining, a colleague comes over and hands you a
petty cash voucher showing an amount spent of £29.58 including VAT. You are told o enter this in the petty
cash-book.

(e) What will be the amounts entered in the petty cash-book to record this transaction?

Netamount £ [ 2485

VAT amount £ 493

Totalamount £ [ 2958





Task 1, continued


[image: image3.png]) What will be the amount of the balance carried down?

B 7236

(g) What will be the entry in the petty cash-book to record the cash withdrawn from the bank to restore
the imprest level of £125?





Task 3 (12 marks)

[image: image4.png](a) What entry is required to update the cash-book?

[Debit bank witn £945

(b) Calculate the amount of the updated cash-book balance.

B

3158

() Complete the bank reconciliation statement as at 31 July.

Less: Sam Tully

Balance

(d) Wil the BACS receipt from AP Hughes be a debit or credit entry in the sales ledger control account?

Debit

Credit






Task 3, continued

[image: image5.png]{e) Review the draft letter which is to accompany the statement of account and identify SIX words or
‘amounts which are either spelt incorrectly,inappropriate, or technically incorrect.

You should ciick on the incorrect word or amount to select it and click on it again to remove your selection.

Dearsirs,

Many thanks for your BACS payment of £954 which is included within the atached statement of account.
s you will se from the statement of account the balance outstanding was £600, following the issue of a
creditnote for £345 which we o not hing you have taken into account The overpayment s shown on the
‘statement of account and will educe the amount that you owe this month. Ifyou would prefur a refund of
the amount overpaid please adice us accordingly.

Yours sincerely,





Task 4 (9 marks)

[image: image6.png](a) Identify TWO initiatives which will directly help environmental sustainability and TWO initiatives which
will directly help social sustainabilty.

Offer a ree loan scheme for employees who wish to purchase a bicycle
for use travelling to and from work

Introduce an organisational goa to increase profitability by 30%

Provide work experience opportunities for those seekingto return to
employment

Ensure the organisation develops at least three new products annually

Encourage staffto participate in a fun run to raise money for a local
charitable organisation

Stop offering staf bonuses for one year

Implement a comprehensive cost spending policy

Encourage BACS payments from customers and to suppliers





Task 4, continued

[image: image7.png](b) Identify whether the following statements are true or false.

Al sustainabiliy iniiatives must only be implemented if they contribute to the overall
proftability of SCH Products.

‘Astrong commitmentto Corporate Social Responsibilty can positively afect the
organisation's reputation.

‘Corporate Social Responsibilty concerns the organisation's contribution to the planet,
people and productiy.

() Identify which TWO of the following procedures would help to ensure confidentialty of information.

Allow confidential information to be left open on staff desks whilst they are working on it including when staff
are away from their desks

Allow configential supplier information to be passed on to compeitor organisations.

Allow staffto access only that part of the computerised accounting system that they need for their area of work

Allow staffto talk with all employees of SC Products about confidential customer and supplier information

Allow staffto pass on confidential information to anyone that holds the necessary authorisation

Allow allfinance staff access to payrollinformation about employees of SCH Progucts





Task 6 (24 marks)

[image: image8.png](a) Calculate and insert in the inventory record below the cost of issues to production for May and June.

[i—
ints
Kios
15 ay 400 1,200
2212y 400 1,400
3042y 500 1900
15 June 800 3200
30 June 700 2700

(b) Using the information above, calculate the amount and value of the closing inventory at close of
business 30 June.

Amount
[






Task 6, continued

[image: image9.png](c) Complete the budget report below by inserting the budget, actual and variance amounts for May and June.

Do not indicate whether any figure is negative in this part of the task, .. do not use brackets or
‘minus signs.

Budget report

Wonth o

May 500 1860 1900 40

June 700 2450 2700 250








Task 6, continued

[image: image10.png](@) In the box below, write a brief report for non-finance staff detailing:
() the movementin price of material XY in May and June

(i)« whatis meant by a cost variance
* an explanation of the difference between an adverse and a favourable variance
* howthe cost variances calculated for May and June would be expressed
+ what the results mean n terms of performance.

Youmust provide a brief introduction BEFORE explaining the points detailed above.

[ntroduction

[This reportooks atthe inventory price movement of material XY for the months of May and June for SCH
[Products. twill explain how the price has changed over this time period and the meaning of the variances
[calculated for Wiay and June when comparedto budget.

)
The cost of material XY for May and June has gone up. The first receipt in May cost£3 per unit and by 15 June.
ithad risen to £4 per unit.

i)

A variance is the difference between actual and budgsted cost fthe actual costis less than the budgeted
[costthen it will produce a favourable variance. Ifthe actual costis more than the budgeted cost then itwill
produce an adverse variance. The resuits for May and June show both months have adverse variances. This
means thatthe cost of material XY issued for May and June is greater than budgsted.




